
 

 

 
MODEL ODPOWIEDZI  

 
 

Zadanie Odpowiedź Liczba punktów 
(wypełnia nauczyciel) 

1. A.B.C.D. 1 pkt za każde prawidłowe wskazanie 
2. A. B.C.D. 1 pkt za każde prawidłowe wskazanie 

          3. A. B.C.D. 1 pkt za każde prawidłowe wskazanie 

4. A.B.C.D. 1 pkt za każde prawidłowe wskazanie 
5. A.B.C.D. 1 pkt za każde prawidłowe wskazanie 
6. A.-1989 

B.-1984 
C.-1979 
D.-1983 

1 pkt za każde prawidłowe wskazanie 

7. A.B.C.D.E. F. G.  1 pkt za każde prawidłowe wskazanie 


